

GNAN MEAN AND ITS DUAL IN n VARIABLES

V. Lokesha¹, S. Padmanabhan² §,
K.M. Nagaraja³, Zhi-Hua Zhang⁴

^{1,3}Department of Mathematics
Acharya Institute of Technology
Chickabanavara, Hesaraghatta Main Road
Karnataka, Bangalore-90, INDIA

²Department of Mathematics
RNSIT, Karnataka Bangalore India

⁴Zixing Educational Research Section
Chenzhou, Hunan, 423400, P.R. CHINA

Abstract: In this paper, we define a weighted Gnan mean and its dual form in n variables, and prove their monotonicities.

AMS Subject Classification: 26D15, 26D10

Key Words: monotonicity, inequality, Gnan mean, dual, weighted

1. Introduction

For positive numbers a, b , let

$$I = I(a, b) = \begin{cases} \exp \left[\frac{b \ln b - a \ln a}{b - a} - 1 \right], & a < b; \\ a, & a = b; \end{cases} \quad (1)$$

$$L = L(a, b) = \begin{cases} \frac{a - b}{\ln a - \ln b}, & a \neq b; \\ a, & a = b; \end{cases} \quad (2)$$

$$H = H(a, b) = \frac{a + \sqrt{ab} + b}{3}. \quad (3)$$

These are respectively called the identric, logarithmic and Heron means (see

[1]).

In [3] and [4], Zhang et al. gave the generalization of Heron mean, similar product type mean and their dual forms. For two variables, there are respectively as follows

$$I(a, b; k) = \prod_{i=1}^k \left(\frac{(k+1-i)a + ib}{k+1} \right)^{\frac{1}{k}}, \quad (4)$$

$$I^*(a, b; k) = \prod_{i=0}^k \left(\frac{(k-i)a + ib}{k} \right)^{\frac{1}{k+1}}, \quad (5)$$

and

$$H(a, b; k) = \frac{1}{k+1} \sum_{i=0}^k a^{\frac{k-i}{k}} b^{\frac{i}{k}}, \quad (6)$$

$$h(a, b; k) = \frac{1}{k} \sum_{i=1}^k a^{\frac{k+1-i}{k+1}} b^{\frac{i}{k+1}}, \quad (7)$$

where k is a natural number. Authors proved that $H(a, b; k)$ and $I^*(a, b; k)$ are monotone decreasing functions and $h(a, b; k)$ and $I(a, b; k)$ are monotone increasing functions with k , and

$$\lim_{k \rightarrow +\infty} I(a, b; k) = \lim_{k \rightarrow +\infty} I^*(a, b; k) = I(a, b),$$

and

$$\lim_{k \rightarrow +\infty} H(a, b; k) = \lim_{k \rightarrow +\infty} h(a, b; k) = L(a, b).$$

For n variables, let $a = (a_0, a_1, \dots, a_n)$ and r be a nonnegative integer, where a_i for $0 \leq i \leq n$ are nonnegative real numbers, there are respectively defined by

$$I_n^{[r]}(a) = \prod_{\substack{i_0+i_1+\dots+i_n=n+r \\ i_0, i_1, \dots, i_n \geq 1}} \left[\sum_{k=0}^n \frac{i_k}{n+r} a_k \right]^{\frac{1}{\binom{n+r-1}{r-1}}}, \quad (8)$$

$$I_n^{*[r]}(a) = \prod_{\substack{i_0+i_1+\dots+i_n=r \\ i_0, i_1, \dots, i_n \geq 0}} \left[\sum_{k=0}^n \frac{i_k}{r} a_k \right]^{\frac{1}{\binom{n+r}{r}}}, \quad (9)$$

and

$$H_n^{[r]} = H_n^{[r]}(a) = \frac{1}{\binom{n+r}{r}} \sum_{\substack{i_0+i_1+\dots+i_n=r, \\ i_0, i_1, \dots, i_n \geq 0 \text{ are integers}}} \prod_{k=0}^n a_k^{i_k/r}, \quad (10)$$

$$h_n^{[r]} = h_n^{[r]}(a) = \frac{1}{\binom{n+r-1}{r-1}} \sum_{\substack{i_1+i_2+\dots+i_n=n+r, \\ i_1, i_2, \dots, i_n \geq 1 \text{ are integers}}} \prod_{k=1}^n a_k^{i_k/(n+r)}. \quad (11)$$

Let $a = (a_0, a_1, \dots, a_n)$, $\lambda = (\lambda_0, \lambda_1, \dots, \lambda_n)$ and r be a nonnegative integer, where $a_i \geq 0$ and $\lambda_i > 0$ for $0 \leq i \leq n$, then

$$I_n^{[r]}(a, \lambda) = \prod_{\substack{i_0+i_1+\dots+i_n=n+r \\ i_0, i_1, \dots, i_n \geq 1 \text{ are integers}}} \left[\sum_{k=0}^n \frac{i_k}{n+r} a_k \right]^{\frac{\sum_{k=0}^n (i_k-1)\lambda_k}{\binom{n+r-1}{r-2} \sum_{i=0}^n \lambda_i}}, \quad (12)$$

$$I_n^{*[r]}(a, \lambda) = \prod_{\substack{i_0+i_1+\dots+i_n=r \\ i_0, i_1, \dots, i_n \geq 0 \text{ are integers}}} \left[\sum_{k=0}^n \frac{i_k}{r} a_k \right]^{\frac{\sum_{k=0}^n (1+i_k)\lambda_k}{\binom{n+r+1}{r} \sum_{i=0}^n \lambda_i}}, \quad (13)$$

and

$$\begin{aligned} & H_n^{[r]}(a, \lambda) \\ &= \frac{1}{\binom{n+r+1}{r} \sum_{i=0}^n \lambda_i} \sum_{\substack{i_0+i_1+\dots+i_n=r, \\ i_0, i_1, \dots, i_n \geq 0 \text{ are integers}}} \left(\sum_{k=0}^n (1+i_k)\lambda_k \right) \prod_{k=0}^n a_k^{i_k/r}, \quad (14) \end{aligned}$$

$$\begin{aligned} & h_n^{[r]}(a, \lambda) \\ &= \frac{1}{\binom{n+r-1}{r-2} \sum_{i=0}^n \lambda_i} \sum_{\substack{i_0+i_1+\dots+i_n=n+r, \\ i_0, i_1, \dots, i_n \geq 1 \text{ are integers}}} \left(\sum_{k=0}^n (i_k-1)\lambda_k \right) \prod_{k=0}^n a_k^{i_k/(n+r)}. \quad (15) \end{aligned}$$

In [5]-[7], authors researched that $I_n^{[r]}(a, \lambda)$ and $H_n^{[r]}(a, \lambda)$ are monotone decreasing functions, $I_n^{*[r]}(a, \lambda)$ and $h_n^{[r]}(a, \lambda)$ is a monotone increasing functions with k , and

$$\lim_{r \rightarrow \infty} I_n^{[r]}(a, \lambda)$$

$$= \lim_{r \rightarrow \infty} I_n^{*[r]}(a, \lambda) = \exp \left\{ \frac{\int_E (\sum_{i=0}^n \lambda_i x_i) \ln(\sum_{i=0}^n a_i x_i) dx}{\int_E (\sum_{i=0}^n \lambda_i x_i) dx} \right\}, \quad (16)$$

$$\lim_{r \rightarrow \infty} h_n^{[r]}(a, \lambda) = \lim_{r \rightarrow \infty} H_n^{[r]}(a, \lambda) = \frac{\int_E (\sum_{i=0}^n \lambda_i x_i) (\prod_{i=0}^n a_i^{x_i}) dx}{\int_E (\sum_{i=0}^n \lambda_i x_i) dx}, \quad (17)$$

where $dx = dx_1 dx_2 \cdots dx_n$ denotes the differential of the volume in E :

$$E = \left\{ (x_1, x_2, \cdots, x_n) : \sum_{i=1}^n x_i \leq 1, x_i \geq 0, i = 1, 2, \cdots, n \right\}, \quad (18)$$

and $x_0 = 1 - \sum_{i=1}^n x_i$.

For a, b are positive, k be a non negative integer and α, β two real numbers. Then Gnan mean $GN(a, b, k; \alpha, \beta)$ and its dual mean $gn(a, b, k; \alpha, \beta)$ in two variables are defined as follows:

$$GN(a, b, k; \alpha, \beta) = \left[\frac{1}{k} \left(\sum_{k=1}^k \frac{(k+1-i)a^\alpha + ib^\alpha}{k+1} \right)^{\frac{\beta}{\alpha}} \right]^{\frac{1}{\beta}}, \quad (19)$$

$$GN(a, b, k; 0, \beta) = \left(\frac{1}{k} \sum_{k=1}^k a^{\frac{(k+1-i)\beta}{k+1}} b^{\frac{i\beta}{k+1}} \right)^{\frac{1}{\beta}}, \quad (20)$$

$$GN(a, b, k; \alpha, 0) = \prod_{i=1}^k \left(\frac{(k+1-i)a^\alpha + ib^\alpha}{k+1} \right)^{\frac{1}{k\alpha}}, \quad (21)$$

$$GN(a, b, k; 0, 0) = \sqrt{ab}, \quad (22)$$

and

$$gn(a, b, k; \alpha, \beta) = \left[\frac{1}{k+1} \left(\sum_{k=0}^k \frac{(k-i)a^\alpha + ib^\alpha}{k} \right)^{\frac{\beta}{\alpha}} \right]^{\frac{1}{\beta}}, \quad (23)$$

$$gn(a, b, k; 0, \beta) = \left(\frac{1}{k+1} \sum_{k=0}^k a^{\frac{(k-i)\beta}{k}} b^{\frac{i\beta}{k}} \right)^{\frac{1}{\beta}}, \quad (24)$$

$$gn(a, b, k; \alpha, 0) = \prod_{i=0}^k \left(\frac{(k-i)a^\alpha + ib^\alpha}{k} \right)^{\frac{1}{k\alpha}}, \quad (25)$$

$$gn(a, b, k; 0, 0) = \sqrt{ab}, \quad (26)$$

The properties, limitations and monotonicities of Gnan mean and its dual mean for two variables are studied and similar results on weighted Gnan mean and its dual mean for two variables are stated in (see [2]).

In this paper, the weighted Gnan mean and its dual mean in n variables are defined. Further, the properties, monotonicities and limitations are proved.

2. Definition and Properties

Definition 1. Let $a = (a_0, a_1, \dots, a_n)$, $\lambda = (\lambda_0, \lambda_1, \dots, \lambda_n)$ and r be a nonnegative integer, where $a_i \geq 0$ and $\lambda_i > 0$ for $0 \leq i \leq n$, then we introduce the following two cases of means $GN_n^{[r]}(a, \lambda; \alpha, \beta)$ and $gn_n^{[r]}(a, \lambda; \alpha, \beta)$:

$$gn_n^{[r]}(a, \lambda; \alpha, \beta) = \left[\frac{1}{\binom{n+r+1}{r} \sum_{i=0}^n \lambda_i} \sum_{\substack{i_0+i_1+\dots+i_n=r, \\ i_0, i_1, \dots, i_n \geq 0 \text{ are integers}}} \left(\sum_{k=0}^n (1+i_k) \lambda_k \right) \left(\frac{\sum_{k=0}^n i_k a_k^\alpha}{r} \right)^{\frac{\beta}{\alpha}} \right]^{\frac{1}{\beta}}, \quad (27)$$

$$gn_n^{[r]}(a, \lambda; 0, \beta) = \left[\frac{1}{\binom{n+r+1}{r} \sum_{i=0}^n \lambda_i} \sum_{\substack{i_0+i_1+\dots+i_n=r, \\ i_0, i_1, \dots, i_n \geq 0 \text{ are integers}}} \left(\sum_{k=0}^n (1+i_k) \lambda_k \right) \prod_{k=0}^n a_k^{\beta i_k / r} \right]^{\frac{1}{\beta}}, \quad (28)$$

$$gn_n^{[r]}(a, \lambda; \alpha, 0) = \prod_{\substack{i_0+i_1+\dots+i_n=r \\ i_0, i_1, \dots, i_n \geq 0 \text{ are integers}}} \left[\sum_{k=1}^n \frac{i_k a_k^\alpha}{r} \right]^{\frac{\sum_{k=0}^n (1+i_k) \lambda_k}{\alpha \binom{n+r+1}{r} \sum_{i=0}^n \lambda_i}}, \quad (29)$$

$$gn_n^{[r]}(a, \lambda; 0, 0) = \prod_{k=0}^n a_k^{\sum_{i=0}^n (\lambda_i + \lambda_k) / [(n+2) \sum_{i=0}^n \lambda_i]}, \quad (30)$$

and

$$GN_n^{[r]}(a, \lambda; \alpha, \beta) = \left[\frac{1}{\binom{n+r-1}{r-2} \sum_{i=0}^n \lambda_i} \sum_{\substack{i_0+i_1+\dots+i_n=n+r, \\ i_0, i_1, \dots, i_n \geq 1 \text{ are integers}}} \left(\sum_{k=0}^n (i_k - 1) \lambda_k \right) \left(\frac{\sum_{k=0}^n i_k a_k^\alpha}{n+r} \right)^{\frac{\beta}{\alpha}} \right]^{\frac{1}{\beta}}, \quad (31)$$

$$GN_n^{[r]}(a, \lambda; 0, \beta) = \left[\frac{1}{\binom{n+r-1}{r-2} \sum_{i=0}^n \lambda_i} \sum_{\substack{i_0+i_1+\dots+i_n=n+r, \\ i_0, i_1, \dots, i_n \geq 1 \text{ are integers}}} \left(\sum_{k=0}^n (i_k - 1) \lambda_k \right) \prod_{k=0}^n a_k^{\beta i_k / (n+r)} \right]^{\frac{1}{\beta}}, \quad (32)$$

$$GN_n^{[r]}(a, \lambda; \alpha, 0) = \prod_{\substack{i_0+i_1+\dots+i_n=n+r \\ i_0, i_1, \dots, i_n \geq 1 \text{ are integers}}} \left[\sum_{k=1}^n \frac{i_k a_k^\alpha}{n+r} \right]^{\frac{\sum_{k=0}^n (i_k - 1) \lambda_k}{\alpha \binom{n+r-1}{r-2} \sum_{i=0}^n \lambda_i}}, \quad (33)$$

$$GN_n^{[r]}(a, \lambda; 0, 0) = \prod_{k=0}^n a_k^{\sum_{i=0}^n (\lambda_i + \lambda_k) / [(n+2) \sum_{i=0}^n \lambda_i]}. \quad (34)$$

According to Definition 1, we easily find the following remark and characteristic properties for $GN_n^{[r]}(a, \lambda; \alpha, \beta)$ and $gn_n^{[r]}(a, \lambda; \alpha, \beta)$.

Remark 2. We call that $GN_n^{[r]}(a, \lambda; \alpha, \beta)$ and $gn_n^{[r]}(a, \lambda; \alpha, \beta)$ the generalized weighted Gnan mean and its dual form of a for λ , respectively.

Proposition 3. If r is a natural number, then

- (a) $GN_n^{[r]}(a, \lambda; 0, 0) = gn_n^{[r]}(a, \lambda; 0, 0)$.
- (b) $gn_n^{[r]}(a, \lambda; 1, 0) = I_n^{[r]}(a, \lambda)$, and $gn_n^{[r]}(a, \lambda; 0, 1) = H_n^{[r]}(a, \lambda)$.
- (c) $GN_n^{[r]}(a, \lambda; 1, 0) = I_n^{*[r]}(a, \lambda)$, and $GN_n^{[r]}(a, \lambda; 0, 1) = h_n^{[r]}(a, \lambda)$.
- (d) $p \leq GN_n^{[r]}(a, \lambda; \alpha, \beta) \leq q$, and $p \leq gn_n^{[r]}(a, \lambda; \alpha, \beta) \leq q$.
- (e) $GN_n^{[r]}(a, \lambda; \alpha, \beta) = gn_n^{[r]}(a, \lambda; \alpha, \beta) = a_0$ if and only if $a_0 = a_1 = \dots = a_n$.
- (f) $GN_n^{[r]}(ta, \lambda; \alpha, \beta) = tGN_n^{[r]}(a, \lambda; \alpha, \beta)$, and

$$gn_n^{[r]}(ta, \lambda; \alpha, \beta) = tgn_n^{[r]}(a, \lambda; \alpha, \beta), \text{ if } t > 0.$$

where $p = \min_{0 \leq k \leq n} \{a_k\}$, $q = \max_{0 \leq k \leq n} \{a_k\}$, and $ta = (ta_0, ta_1, \dots, ta_n)$.

3. Monotonicities and Limitations

Theorem 4. The Gnan mean $GN_n^{[r]}(a, \lambda; \alpha, \beta)$ and $gn_n^{[r]}(a, \lambda; \alpha, \beta)$ in n variables is a monotone increasing function with respect to α or β .

Proof. From the well known weighted power mean inequality, we have that

$$M_\alpha(a, x) = \begin{cases} \left[\frac{\sum_{k=0}^n a_k^\alpha x_k}{\sum_{k=0}^n x_k} \right]^{\frac{1}{\alpha}} & (\alpha \neq 0), \\ = \prod_{k=0}^n a_k^{x_k / \sum_{k=0}^n x_k} & (\alpha = 0) \end{cases}$$

is a monotone increasing function with respect to r or a_i for $1 \leq i \leq n$. It is easily to obtain Theorem 4. \square

Theorem 5. Let $r \in \mathbb{N}$. Then $gn_n^{[r]}(a, \lambda; \alpha, \beta)$ is a monotone decreasing function and $GN_n^{[r]}(a, \lambda; \alpha, \beta)$ is a monotone increasing function with r , i.e. the following two inequalities

$$gn_n^{[r]}(a, \lambda; \alpha, \beta) \geq gn_n^{[r+1]}(a, \lambda; \alpha, \beta). \quad (35)$$

$$GN_n^{[r]}(a, \lambda; \alpha, \beta) \leq GN_n^{[r+1]}(a, \lambda; \alpha, \beta). \quad (36)$$

hold if $\alpha < \beta$, and inequalities (35) and (36) inverse if $\alpha > \beta$. The equalities in (35) and (36) are valid if and only if $a_0 = a_1 = \dots = a_n$.

Proof. For $\alpha = 0$ or $\beta = 0$, the proofs of inequalities (35) and (36) are obtained in [5]-[7].

If $\alpha \neq 0$ and $\beta \neq 0$, we will only prove inequality (35), the proof of the inequality (36) is similar.

From Definition 1, we get

$$\begin{aligned} & \binom{n+r+2}{r+1} \sum_{k=0}^n \lambda_k \left[gn_n^{[r]}(a, \lambda; \alpha, \beta) \right]^\beta \quad (37) \\ &= \frac{n+r+2}{r+1} \sum_{\substack{i_0+i_1+\dots+i_n=r, \\ i_0, i_1, \dots, i_n \geq 0 \text{ are integers}}} \left(\sum_{k=0}^n (1+i_k) \lambda_k \right) \left(\frac{\sum_{k=0}^n i_k a_k^\alpha}{r} \right)^{\frac{\beta}{\alpha}} \\ &= \frac{n+r+1}{r+1} \sum_{\substack{i_0+i_1+\dots+i_n=r, \\ i_0, i_1, \dots, i_n \geq 0 \text{ are integers}}} \frac{n+r+2}{n+r+1} \left(\sum_{k=0}^n (1+i_k) \lambda_k \right) \left(\frac{\sum_{k=0}^n i_k a_k^\alpha}{r} \right)^{\frac{\beta}{\alpha}} \\ &= \frac{\sum_{j=0}^n (1+i_j)}{r+1} \\ & \quad \sum_{\substack{i_0+i_1+\dots+i_n=r, \\ i_0, i_1, \dots, i_n \geq 0 \text{ are integers}}} \frac{\sum_{j=0}^n (1+i_j) + 1}{n+r+1} \left(\sum_{k=0}^n (1+i_k) \lambda_k \right) \left(\frac{\sum_{k=0}^n i_k a_k^\alpha}{r} \right)^{\frac{\beta}{\alpha}} \end{aligned}$$

$$= \frac{\sum_{j=0}^n \nu_j}{r+1} \sum_{\substack{\nu_0+\nu_1+\dots+\nu_n=r+1, \\ \nu_0, \nu_1, \dots, \nu_n \geq 0 \text{ are integers}}} \frac{\sum_{j=0}^n \nu_j + 1}{n+r+1} \left[\sum_{k=0}^n (1+\nu_k)\lambda_k - \lambda_j \right] \left(\frac{\sum_{k=0}^n i_k a_k^\alpha - a_j^\alpha}{r} \right)^{\frac{\beta}{\alpha}}.$$

When $\sum_{j=0}^n \nu_j = r+1$, we have

$$\begin{aligned} & \sum_{j=0}^n (1+\nu_j) \left[\sum_{k=0}^n (1+\nu_k)\lambda_k - \lambda_j \right] \tag{38} \\ &= \sum_{j=0}^n (1+\nu_j) \sum_{k=0}^n (1+\nu_k)\lambda_k - \sum_{j=0}^n (1+\nu_j)\lambda_j \\ &= (n+r+2) \sum_{k=0}^n (1+\nu_k)\lambda_k - \sum_{k=0}^n (1+\nu_k)\lambda_k \\ &= (n+r+1) \sum_{k=0}^n (\nu_k - 1)\lambda_k. \end{aligned}$$

For $(\alpha/\beta)(\alpha/\beta - 1) > 0$, by using the weighted arithmetic-geometric mean inequality and a simple fact that

$$\frac{\nu_j}{r+1} \left(\frac{\sum_{k=0}^n i_k a_k^\alpha - a_j^\alpha}{r} \right)^{\frac{\beta}{\alpha}} = 0$$

for $\nu_j = 0$, from (37) and (38), we find

$$\begin{aligned} & \binom{n+r+2}{r+1} \sum_{k=0}^n \lambda_k \left[gn_n^{[r]}(a, \lambda; \alpha, \beta) \right]^\beta \tag{39} \\ &= \frac{\sum_{j=0}^n \nu_j}{r+1} \sum_{\substack{\nu_0+\nu_1+\dots+\nu_n=r+1, \\ \nu_0, \nu_1, \dots, \nu_n \geq 0 \text{ are integers}}} \left(\sum_{k=0}^n (1+\nu_k)\lambda_k \right) \left(\frac{\sum_{k=0}^n i_k a_k^\alpha - a_j^\alpha}{r} \right)^{\frac{\beta}{\alpha}} \\ &= \sum_{\substack{\nu_0+\nu_1+\dots+\nu_n=r+1, \\ \nu_0, \nu_1, \dots, \nu_n \geq 0 \text{ are integers}}} \left(\sum_{k=0}^n (1+\nu_k)\lambda_k \right) \frac{\sum_{j=0}^n \nu_j}{r+1} \left(\frac{\sum_{k=0}^n i_k a_k^\alpha - a_j^\alpha}{r} \right)^{\frac{\beta}{\alpha}} \\ &\geq \sum_{\substack{\nu_0+\nu_1+\dots+\nu_n=r+1, \\ \nu_0, \nu_1, \dots, \nu_n \geq 0 \text{ are integers}}} \left(\sum_{k=0}^n (1+\nu_k)\lambda_k \right) \left(\frac{\sum_{j=0}^n \nu_j}{r+1} \cdot \frac{\sum_{k=0}^n i_k a_k^\alpha - a_j^\alpha}{r} \right)^{\frac{\beta}{\alpha}} \end{aligned}$$

$$\begin{aligned}
&= \sum_{\substack{\nu_0+\nu_1+\dots+\nu_n=r+1, \\ \nu_0, \nu_1, \dots, \nu_n \geq 0 \text{ are integers}}} \left(\sum_{k=0}^n (1 + \nu_k) \lambda_k \right) \left(\frac{\sum_{k=0}^n i_k a_k^\alpha}{r+1} \right)^{\frac{\beta}{\alpha}} \\
&= \binom{n+r+2}{r+1} \sum_{k=0}^n \lambda_k \left[gn_n^{[r+1]}(a, \lambda; \alpha, \beta) \right]^\beta,
\end{aligned}$$

that follows

$$\left[gn_n^{[r]}(a, \lambda; \alpha, \beta) \right]^\beta \geq \left[gn_n^{[r+1]}(a, \lambda; \alpha, \beta) \right]^\beta, \quad (40)$$

and inequalities (40) inverses if $(\alpha/\beta)(\alpha/\beta - 1) < 0$. The equalities above are valid if and only if

$$\left(\sum_{k=0}^n i_k a_k^\alpha - a_0^\alpha \right) / r = \left(\sum_{k=0}^n i_k a_k^\alpha - a_1^\alpha \right) / r = \dots = \left(\sum_{k=0}^n i_k a_k^\alpha - a_n^\alpha \right) / r$$

which is equivalent to $a_0 = a_1 = \dots = a_n$.

If $(\alpha/\beta)(\alpha/\beta - 1) > 0$, that is $\alpha/\beta < 0$ or $\alpha/\beta > 1$, then $\beta > \alpha$ and $\beta > 0$, we immediately find inequality (35) from (40). If $(\alpha/\beta)(\alpha/\beta - 1) < 0$, then $\alpha < \beta < 0$, and we also obtain inequality (35) from inverses (40). That is to say that inequality (35) holds if $\alpha > \beta$. Similarly, we have that inequality (35) inverses if $\alpha < \beta$.

The proof of Theorem 4 is completed. \square

Theorem 6. We have

$$\lim_{r \rightarrow \infty} GN_n^{[r]}(a, \lambda; \alpha, \beta) = H(a, \lambda; \alpha, \beta) = \lim_{r \rightarrow \infty} gn_n^{[r]}(a, \lambda; \alpha, \beta),$$

where

$$H(a, \lambda; \alpha, \beta) = \left[\frac{\int_E (\sum_{i=0}^n \lambda_i x_i) (\sum_{i=0}^n a_i^\alpha x_i)^{\beta/\alpha} dx}{\int_E (\sum_{i=0}^n \lambda_i x_i) dx} \right]^{\frac{1}{\beta}}, \quad (41)$$

$$H(a, \lambda; 0, \beta) = \left[\frac{\int_E (\sum_{i=0}^n \lambda_i x_i) (\prod_{i=0}^n a_i^{\beta x_i}) dx}{\int_E (\sum_{i=0}^n \lambda_i x_i) dx} \right]^{\frac{1}{\beta}}, \quad (42)$$

$$H(a, \lambda; \alpha, 0) = \exp \left\{ \frac{\int_E (\sum_{i=0}^n \lambda_i x_i) \ln(\sum_{i=0}^n a_i^\alpha x_i) dx}{\alpha \int_E (\sum_{i=0}^n \lambda_i x_i) dx} \right\}, \quad (43)$$

$$H(a, \lambda; 0, 0) = \prod_{k=0}^n a_k^{\sum_{i=0}^n (\lambda_i + \lambda_k) / [(n+2) \sum_{i=0}^n \lambda_i]}. \quad (44)$$

Proof. This follows straightforward computation from Definition 1. \square

References

- [1] J.-Ch. Kuang, *Chángyòng Búděngshì (Applied Inequalities)*, Second Edition, Hunan Education Press, Changsha, China (1993), In Chinese.
- [2] V. Lokesha, Zh.-H. Zhang, K.M. Nagaraja, The Gnan mean for two variables, *Far. East J. Appl. Math.*, **31**, No. 2 (2008), 263-272.
- [3] Zh.-H. Zhang, Y.-D. Wu, The generalized Heron mean and its dual form, *Appl. Math. E-Notes*, **5** (2005), 16-23; <http://www.math.nthu.edu.tw/amen/>
- [4] Zh.-G. Xiao, Zh.-H. Zhang, The inequalities $G \leq L \leq I \leq A$ in n variables, *J. Ineq. Pure and Appl. Math.*, **4**, No. 2 (2003), Article 39.
- [5] Zh.-H. Zhang, V. Lokesha, Zh.-G. Xiao, The weighted heron mean in n variables, *J. Anal. Comput.*, **1**, No. 1 (2005), 57-68.
- [6] V. Lokesha, Zh.-H. Zhang, The weighted heron dual mean in n variables, *Adv. Stud. Contemp. Math.*, Kyungshang, **13**, No. 2 (2006), 165-170.
- [7] V. Lokesha, Zh.-H. Zhang, Y.-D. Wu, Two weighted product type means and its monotonicities, *RGMA Research Report Collection*, **8**, No. 1 (2005), Article 17.